Civilization -2
One point that the dr. forgot to mention last week;
When the Norman army and the British met , the British army stood their  ground they didn’t move , although the Norman army tried hard to pass through the lines , but they couldn’t because of the courage of the British army. So the Norman played a trick which is , the Norman went backwards as if they were retreating "withdrawing" then the English thought they were retreating , after the Norman retreating the English army move and exposed the heart to the enemy ,after that the Norman came back and attack and fight till they destroyed the English army and killed Harold with his  two brothers .
The Norman army is consist of cavalries and archers and some mercenary and was very well-disciplined 	Comment by User: المرتزقه
    William moved to insecure the stability , so when William has done from the inside stability "the upraising" . he started to secure the border of England. He started with Wales and defeated  Prince Rhys  . also , he had him in a feudal relation . the feudal relation involves two sides a- the lord "William " and b- the vassal "Rhys". so he secured the west side now .Then he moved northward to Scotland to king Malcolm. Malcolm refrain from  engaging himself  in a battle with king William , he simply surrender to king William the conqueror. Also, William had him in a feudal relation . as a token to this feudal relation Malcolm gave William his son prince Duncan. What for? To be a knight .  
* to insure his stability William introduces the feudal settlement .
Feudal = came from the Latin word feudum =estate. 
- -  - - 
Why William wanted to introduce this settlement ?
First , this system is not English system ,but it's a European one. 
There was a kind of necessity to use this system. Because he needed a well disciplined , trained, well armed and armored standing by army. And he will get it by this system. Feudal= we talk about;
  1.   knight and a large net work of castles, those castles of European models  were built in the south and  mid land part of England why? To make a buffer zone between Scotland and the southern part. To protect against any attack from Scotland. And he didn’t build one in the northern part due to their hostile attitude.      
  2. granting  lots of lands to the prominent leaders and his companion . 
      When William became the king he divided England into states, and started to granted them to his companions and prominent leaders. 
By  what right he can give this state? 
Its known the medieval ages and at that time , that the king own all the land and it's his right.
     Later on, William companion turn into "the counts= from the French word companion" whom came all the way from Normandy. And those counts also called in the feudal system; tenants-in-chief.
      These estate that  were given to the counts were very large , and the estate given by William to the count  were called honours .
By time the English people start to call the counts  honours "Baronies".
So William  granted these lands for them and in return  they should supply William with  a certain number of knights.
So the feudal relation usually it has its own social aspects in what way, in which it simplified by a ceremony . that takes place in public, where the king well extent his hands where the tenant In well bow on his knee and put his hands on the lord and vassal "tenant-in-chief ,counts ,baronies, hounors" will swear fealty  and do homage.

William being outside England all the time, he meet with his tenant in chief on three occasion:
1 . Christmas . 
2 . Easter day .
3 . white sun tide.
Where?
a. Westminster. 
b. Winchester .
c.  Gloucester.
 ---
   Since William was from Normandy ,his vassals as well were from Normandy , that’s why it was hard for the vassals to find knights for king William .so they divided their large states to their under tenant or subtenant ,on the condition to provide the tenant with the knights .
But these smaller state where called fiefs= a knights fee. And of course it smaller than the honour that belong to the tenant-in-chief . and people who owned these fiefs were called subtenants as I said earlier.






- when king William controlled England and applied the feudal system there , he offers his companion the largest states in England. One of states was located in the west with border of Scotland ,and the other with the border of Wales ,why? Because they acted as a buffer zone. They were the most dangerous area. 

- feudal system governed by some terms:
This relation is often a. permanent and b.  hereditary. 
Except for certain cases; so these two label are might change ,
In what cases?
1 . the count have a heir "successor" and he is in use of minority  "under age" or still young .
Here , the king would retrieve the state and he will be in charge of that state. As he will be also in charge on the young child and train him to be a knight till that child reached adulthood, then the king give the state  back to him. 

2 . in case the dead count left a heiress behind him. According to the Norman low , the women have no right to inherit anything. ""p.s the women in England before the Norman conquest have the right to inherit"" . so the lord again will be in charge on the lady and choose for her a suitable husband and then give her husband back the state he took over. 


  





The vassal would protect his lord and fight with him in the time of wars. When he desert his lord this considered to be the most dangerous felany . and if a vassal desert his lord this denied his right of the state. 

By the time the lord expect vassal to give him gifts in some occasions which are 3 :
1 . the knighting of the vassal's eldest son. 
2 .  the marriage of the eldest daughter.
3 . if  the lord fall in the hand of his enemy , the vassal would pay the ransom.
Those were the term of the feudal system.
 
- because of the feudal settlement the English society has acquired  a military nature, why?
Because when we talk about feudal it's about knights and ceremony.
Rather than a civil one.
And the remainder of the army the tenants would keep them in his castle.
The southern and middle part of England is more civilized than the northern part because in north they didn’t built any castles due to the hostility of the people there.
 Here the end of the feudal system

 William the conqueror ,insured the stability of the inside "upraising' and outside "within the island of Britain, feudal system'',  England. 

He ordered for a survey to be conducted all over England , and it's called Doomsday book . is to survey all the lords in an annual revenue .
 
How they conduct this survey? ,,,she didn’t answer it .
The administrative division of England was divided into countries, shires ,and hundreds. And the hundred have a ………….. of villages.   
   
 - the administrate division of Norman England was only hounors and fiefs. 

- and for this survey they formed  juries in every single trials ,and those juries would set and listen to every committee. There is a committee made in every single village .Those juries are formed from a priest + reeve +and 6 villagers.
   
 These 6 people were telling under an oath , in term of land and plantation . however, the mass of information would be taken and rearranged by the clears of the king to Winchester in order to rearrange them into entries according to the name of the lord and under the name of a  lord there is his position of lands and stocks . and the tenant also the knights.   And that’s why it's called Doomsday .

 Why it is conducted "Doomsday"?  for 3 reasons;
1 – to settle down …………….. among lords  over the land. 
2 – to give the king a clear picture of the annual revenue of the whole country. 
3 – to know who pay the Dane geld from those who didn’t . v.imp 
Dane geld ; is a national tax imposed on  every single man pay it to the king . to keep the Danish invasion away from the kingdom.  

 


When it was conducted 'Dane geld'?
20 years after Hastings , and one year before the death of William of Normandy.
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